Name Date Period

TEST: 5.1-5.7 B—NO Calculator Permitted
Part I: Multiple Choice

6 1. What is the period of the following function? y=2- 9‘[%(477r + %ij

7 10 4 7 5
(A) 5 (B) 3 ©) 7 (D) 1 (E) 3

E 2. The function y =cotx has the same domain as the function y =
X (A) sinx (B) cscx 3 (C) tanx (D) secx (E) cosx

9
% 3.1f f(x)z arccosx , find f(—O.S) ?

hY/4 2r T b4
(A) r3 (B) EY © s (D) 3 (E) DNE
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‘ﬂS 4. Find the domain of f( )=—50$C(—X—§j+1 for neZ.
x¢4+4n (B) xx¢4+2n ©) xx¢n+ n (D) {x x¢E+in
9 9 3 9 3

|2 5. What is the range 0fy=7—3sec(6—27rx)‘?

&) {ya<y<io} @) {y-4<y<i0} © {yly<s—4oryz10} ©) {yy<sory=z10} (E)allreals

\2 6. sec arctan3x2)=

“1+9x (B) “1+3x (C)“ x4 @) V1+9x* () V143«
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E 7. Arcsin sin18—7r =
13
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P\ 8. csc(tan" ﬂj =
3
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C/9. Find the domain of f(x):3tan(—z +47rx]+5 for neZ.

1 1 3 1 1 1
A F—+— B F—+— C F—+— D
(){xx T Zn} (){xx T 4n} (){xx T 4n} (){x

éo. tan_l(cosn'):
T 3 T S T
(A)Z (B) Yy ©) vy (D) vy (E) 2

X# i+ ln (E) all reals
16 2

k 11. arccos(cot(sin_l(—l))):

(A)% (B)0 (OF: (D) 37” (E) DNE
D 12. csc(arctan\/g) =
(A) g (B) % (C)2 (D) i (E) DNE
&13. cot(tan_1 LJ =
1000
537r
(A )m (B) 1000 (€)2 D) 2 (E) DNE

Part II: Short Answer

14. For the given algebraic expression, find a decomposition into a trig function of an inverse trig function
of a ratio. Show the work (TRIANGLE) that leads to your answer. BOX your final answer.
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